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I. Intentional Torts


A. Battery Elements



1. physical contact (touching)—has to bring about a physical contact that 

causes the harm or offense (not just putting forces in motion)




a) Too loose--Abrams thinks that we’re supposed to be protecting 



bodily 
autonomy so he thinks Fisher v. Carrousel Motor Hotel is a 



stretch.




b) Gergen-the Fisher touching is common in tort claims-(ex. 



Banging on the hood of one’s car for stealing a parking place.



2. harm OR offense-context dependent, offense is from an objective 


standard.  Sometimes it depends on whether the contact was expected 


(Vosburg v. Putney—a student kicking another student amounts to 



inappropriate 
behavior)




a) Determining Offensiveness-





1. public policy





2. community mores



3. intent—means acting with knowledge that X action will result, not 


acting with purpose or desire that X will result.



(i) intent to harm or offend



(ii) intent to do an inappropriate act (have to know that the conduct is 


inappropriate or with substantial certainty that the inappropriate contact 


will result)



???????Liability whenever D (1) desires to bring about such contact or (2) 


acts with substantial certainty that the contract will result from his actions.




Problems with other definitions:




 a) Why not intent to bring about a touching? (Garratt)





Then the helpful tap on the shoulder could be a battery


B. Battery Damages



1. Unlike under breach of contract claims, you CAN sue for mental 


anguish damages.


C. Assault



1. Elements:  Assault occurs:




a)  when the D intending to cause a battery,




b)  or to threaten one,




c)  puts the P in fear of an imminent harmful or offensive contact 



(a battery)





1. time frame must be imminent





2.  must be close in terms of space





3. must be actual rather than potential.



2. The case of the extra-sensitive P




a) ordinarily there is no liability for the making of threats that 



would not satisfy the demands of the tort of assault made to a 



typical person.




b. EXCEPTION-once the D knows of the P’s extra-sensitivity 



there is liability.


D. False Imprisonment



1. Elements




a) confinement must be total (forcing the P to take the long way 



around in order to reach a desired destination is not False 




Imprisonment




b) the P must have a conscious awareness of the confinement




c) intentional restraint.


E. Intentional Infliction of Emotional Distress



1. . .Elements 




a) extreme outrageous conduct (tends to reduce the risk of 




fraudulent claims as well as limit the doctrine from being 




expanded)





1. The outrageousness of the act is more important than 




the degree of mental suffering at least to judges.





2. jury decides the outrageousness of the conduct if 





reasonable people could disagree.





3. contract law offers some relief from the bad faith 





nonpayment, and settlement coercion (no 






consideration—no enforceable settlement contract)





4. The conduct must be extreme and outrageous as to go 




beyond all possible bounds of decency, and to be regarded 




as atrocious and utterly intolerable in a civilized 





community.





5. reason why sexual harassment is a success in tort





and wrongful termination is not successful.




b). causing severe emotional distress





1. (Restatement) Distress—that a ‘reasonable man cannot 




be expected to endure.’ But is the loss of $5,000 by a poor 




person unendurable?  One way out is to make the gist of the 



tort the outrageousness of the act rather than the severity 




(or unusualness) of the resulting distress.




c). intent 





1. How defined in Chuy v. Philadelphia Eagles—





intentionally making a statement, the natural and 





probable consequences of which it will be known to the 




person and cause him or her emotional distress.






a. Boyles v. Kerr-shows how this could lead to 





unfavorable results---what if Boyles only showed 





the video to 2 or three people? Then there probably 





couldn’t be a IIED claim.





2. applies where the actor desires to inflict severe 





emotional distress or where he knows that such distress is 




certain or substantially certain, to result from his conduct.  



It also 
applies where he acts recklessly in deliberate 




disregard of a 
high degree of probability that the emotional 



distress will follow.





3. If there is INTENT to inflict distress then there doesn’t 




have to be a high probability that the action will occur.  But 



if there is only knowledge that it be substantially certain to 




occur then we require a higher probability.


F. Trespass to Land—Protects against reasonable or innocent infringement




1. Elements





a) physical entry






1. any intrusion which invades the possessor’s 





protected interest in exclusive possession, whether 





than intrusion is by visible or by invisible pieces of 





matter (Martin v. Reynolds Metal Co.)






2. what about rainwater runoff on a driveway—





courts have interpreted this as a nuisance rather than 




as a trespass.






3. How high up? “immediate reaches”







a) from this high flying airplanes are not 






trespassers because they are not within the 






immediate reaches.





b) the act has to be intentional—P must prove that the D 




intended the facts that constitute an entry.





c) May be indirect or direct—so long as intent is fulfilled




2. Remedies





a) injunction-limited based on disproportionality.  If the 




court thinks that the harm to the P is very small as 





compared with the burden to the D





b) disgorgement (RESTITUTION)





c) punitive damages for a willful trespass




3. Difference between Nuisance and Trespass





a) nuisance—an actionable invasion of a possessor’s 




interest in the use and enjoyment of his land.





b) trespass-an actionable invasion of a possessor’s interest 




in the exclusive possession of the land.

II. Defenses



A. Consent




1. Functions





a) usually used to dispute the elements of an action but can 




be a stand alone defense (trespass)




2.  Apparent consent-(O’Brien v. Cunard) holding one’s arm 




out to take a shot.




3. Implied Consent in Sporting Events—





a) not just beyond the general customs of the game—




otherwise any foul in basketball would be a battery.





b) not just too high a degree of risk of injury (doesn’t 




account for boxing)





c.More plausible—violation of a safety rule instead of 




another rule which regulates the game





d. social convention—internal to the game—not 





everything’s that’s harmful and not everything that 





violates the rules





e. Questions to ask when applying this:






1. was violence beyond the scope of consent?






2. consent to brawl is something that some courts 





might not recognize (majority)




4. Misrepresentation





a) P’s mistake negates her consent only if the 





D knew or should have known about the mistake (Hogan v. 



Tavzel).





b) Consent is not negated unless the misrepresentation goes 



to a “collateral matter”.  






1. the misrepresentation must go to what makes the 





touching harmful or offensive otherwise it is 





collateral.  The question in Neal v. Neal is  whether 





the P was offended by D’s having an affair, or by 





intimate relations with D because of his affair.






2. solved more or less by an objective standard 





for offensiveness.



5. NOT Consent





a) where the consent is exceeded (doctor operates on a 




person’s left ear when the right one is the only one 





consented to)





b) If P is not the author of consent or at fault—( A says 




honestly but mistakenly, that he owns a parcel of land.  He 




consents to allow D to cut timber there.  P, the true owner, 




sues D for trespass.  A’s consent will not bar a claim by P 




against D (Consent doesn’t work if it’s from the wrong 




person).



B. Defense of Person





1. Elements






a) D must reasonably believe that the use of 






physical force is immediately necessary to prevent 





or repel an attack or imprisonment.







1. Subjective AND objective element






b) D is liable for injury caused by the use of 






unreasonable means or excessive force.






c) Is it the level of force to protect oneself from a 





battery (incapacitate or deter the attacker) or a 





level of force that is equivalent to the harm that 





is threatened? 







1. prohibition of deadly force for non-deadly 





battery suggests the latter.







2. BALANCING EXAMPLE—grope brings 





a punch in the face, which seems on its face 






disproportionate.






d) Escape Rule( If there is a means of escape, the 





use of force in defense is not privileged, except in 





one’s home.






e) SELF-DEFENSE CANNOT BE USE D TO 





RETALIATE






f) Self-defense of a third person—(ok in a  majority 





of states, some states require that the person 






exercising the privilege must be correct).






g) HYPO---What if D mistakenly struck P after she 





had been groped by T?   There is no privilege of 





self-defense because P was not the aggressor.



C. Necessity




1. reserved for those cases in which the D has damaged or 




destroyed the P’s property in order to avoid harm to himself or his 



property, but the risk of harm to the P has not been created by 



the P.





a) public necessity- when there is a risk to the property of a 




sufficiently large number of people to make the risk public 




and that risk can be eliminated by damaging or destroying 




the property of the P. (ABSOLUTE defense)





b) private necessity (QUALIFIED defense)- D is liable for 




the damage to the property.




2. Relation to Property Rights





a) -Ploof- property owner has no power or right to 





exclude someone who uses his property by necessity.






1. trespass is privileged






2. Property Rights Denied







a)no injunction (also implicit in the 







discretionary doctrine of disproportionality 






in the law of equity)







b) no punitive damages







c) no disgorgement of the user’s gain.






3. rationale (difference between Ploof and Jacques) 





There is no opportunity to bargain.





b) –Property Rights explanation Vincent- property owner 




is entitled to compensation for harm to his property 





(conditional privilege)






1. Rationale—







a) not for use of the land, because this would 





amount to the rental value.





c) assumes the Dock owner’s property right 






includes a right to compensation. BUT WHY? Circular.






2) making the Vessel Owner liable for the 






harm to the dock makes sense if it was 






unreasonable/ negligent to remain at the 






dock (expected loss from moving was less than the 





expected loss from staying)






3) doesn’t justify imposing liability when it is 





reasonable/ efficient to stay tied to the dock, but 





neither does immunity from liability.






4) Failure of Deterrence If it is reasonable for the 





VO to stay tied to the 
dock the VO will do so even 





if he is liable because 
the expected loss on moving 





exceeds the expected cost on staying.  This would 





seem to suggest no liability if we could justify 





liability only as a deterrent.  LIABILITY 






DOESN”T ALSO PROVIDE AN INCENTIVE 





FOR ACTION (DETERRENCE)






5) Strict Liability--A regime of strict liability 





might seem vastly superior because it internalizes 





the cost of an 
activity to an actor, leaving it to him 





to decide when he should alter his activity to 





minimize losses that it inflicts on others.







a) distributive effects—would allow VO to 






pass along costs to consumers.






6) We might want to impose liability on whoever 





is the cheapest (or best) loss avoider, but what if 





this isn’t as clear as with the VO and the DO?







a) if one party is CLEARLY the cheapest 






and best avoider than impose strict liability 






with a Contributory negligence regime.






7) Why the negligence norm instead of strict 





liability?







a) what if the loss is the cost of two 







activities.







b) For many accidents neither party is going 






to be a better cost avoider.  Negligence is a 






fall back.







c) negligence can spread the cost more 






widely.





8) Corrective Justice/Reciprocity






a) failure of the economic model to account 






for why the law intervenes to compensate a 






victim for an injury inflicted by a person 






engaged in a highly risky activity.







b) if the goal was regulation of risky activity 





why don’t we tax riskier behavior?







c) The law imposes liability when D 







 excessive risk of harm relative to the 






victim’s risk creating activity.








1. unjust enrichment for the VO




D. Functions of Tort Liability





1. Corrective Justice- correction of a wrong.  Economic 




loss is a substitute for rectifying injury.






a) problem---strained by insurance—not a face to 





face correction of a moral imbalance.





2. Optimal Deterrence-liability not only corrects wrongs 




that have already occurred, it also helps prevent future 




tortous actions.






a) problem







1) not all risky activity is worth deterring.  






It only deters those losses worth avoiding.







2) nothing in optimal deterrence dictates 






what values should be taken into account in 






determining which losses are not worth 






deterring.





3. Loss Distribution—the cost of the loss suffered by the P 




is not simply transferred to the D, but is distributed through 



the D to a larger number of individuals.






a) problem







1. it doesn’t explain why tort liability is not 






imposed on parties who might be good loss 






distributors.





4. Compensation—principal function of tort law is to 




promote the compensation of those who have suffered 




injury***.  Perhaps we are better off to take socially 




productive risks that we would not otherwise take knowing 




that if we suffer certain kinds of injury, then compensation 




for that injury may be forthcoming.






a) problem







1. liability is not imposed in order to 







provide compensation to victims.  Victims 






are provided compensation in order to 






serve the other goals of tort law. 







2. there are some injuries for which the 






tort system will not provide compensation 






for 







3. otherwise it is the suffering of misfortune, 





not the commission of a tort by another.





5. Redress of personal grievances






a) problems







1. inefficiencies.

III. Negligence


A. Elements of Negligence



1. P must establish that the D had a duty to conform its conduct to specific 

standard, reasonable care usually.



2. the P must prove that the D’s conduct failed to conform to the 



appropriate standard.*



3. the P must prove that the D’s substandard conduct was a factual cause 


or cause in fact of the P’s injuries.*



4. P must prove that the D’s substandard conduct was a legal cause of the 


P’s harm. *



5. P must prove actual damages

* means that it is up to the jury


B. The Standard of Care (The Progression Towards Risk Utility In England)


(in the States the decision is left up to the jury)



1. The risk must be foreseeable.  Reasonable care requires only that a 


person take reasonable precautions with respect to risks that a reasonable 


person would foresee.



2. extent of the obligation to aovid.  Absolute obligation to avoid any 


substantial risk.



Alternate—anything practicable to avoid a risk of harm



Alternate---take any means when the benefits outweigh the costs. (modern 

approach in England).


C. The Objective Standard



1. Why?




a) too difficult to apply—a subjective standard would be infinitely 



variable.




b. subjective would encourage fraud and deception




c. optimal deterrence




d. creates predictability and safety




e. asks the jury to base its decision on its own knowledge


E. 
The Negligence Calculus



1. Elements




a. the probability that a particular act or omission will cause harm, 



the magnitude of that harm and the burden.




b. The cost of risking harm is greater than the cost of avoiding it, 



then the action is unreasonable.


F. 
Negligence as a matter of law—submitted to the jury if reasonable people 


could disagree about the resolution of an issue.




1. Courts are inclined to leave juries with even greater discretion 



and to grant fewer directed verdicts.





a) why?






(i) fact situations that are sufficiently similar do not 





recur that often.  Not every slip and fall case is the 





same.






(ii) it is politically less dangerous and less elitist for 





elected judges to leave tough decisions about norms 




of behavior to juries rather than deciding these 





issues themselves.


G.
Rationale for Applying Liability



1. Cost/Benefit Analysis:  Beatty v. Central Railroad—P is killed along a 


railroad track when his unusually skittish horse freaks out at the crossing.  


The decision more no liability is best understood by cost- benefit 



balancing.  The fact that the horse was unusually skittish shows that the 


risk of harm is foreseeable, but not substantial.



Low Probability, High Impact



2. Kimbar v. Estis—P breaks nose on unlit path at camp.  Risk again is 


foreseeable but not substantial (high probability of a slight injury).  Again 


the decision of no liability can be explained by cost benefit analysis.  The 


benefit is aesthetic.  High Probability, Low Impact



3. Allien v. Louisiana Power and Light Co.  Low probability and high 


impact but also very low cost of avoidance.  Liability is again explained 


on cost benefit analysis.  Low probability/ high impact.


4. Eckert v. LIRR P saved a small child on the RR at the expense of his 


own life.  Why did the judge deny the request for summary judgment?  


Sudden emergency.  The law takes into account when circumstances 


don’t give people a chance to rationally asses their actions.



5. Reciprocity—collective benefit is much greater for water


G. Small Frame/Big Frame Issue What about the spill case in a convenience 
store where the store is already doing everything else it can? How local or how 
global should the request be.



1. Does negligence law commit us to one frame or the other?




a. there is no consensus




b. cost/benefit analysis would seem to take the more global 




approach,  after all what’s the point in imposes liability if the store 



is already doing all it can, it just increases its costs/





(i) Gergen says that cost benefit analysis doesn’t direct us 




one way or another.


H. Industry Custom



1. Dominant rule—evidence of compliance or non-compliance with 


industry custom is relevant and admissible, but not dispositive.



2. A practice need not be universal to constitute a custom, although it must 

be more than just one of a number of different practices.  At the very least 


it must be something done by most of those whose behavior is relevant to 


the issue.



3. Compliance tends to prove reasonableness and non-compliance tends to 

prove negligence.



4. An economic theory of negligence makes it somewhat easier to reject 


custom because it provides a fairly firm empirical and evaluative basis for 


criticizing a practice.


I. Professional Malpractice (physicians, attorneys, and accountants)



1. Unlike Industry Custom, deviation from the standard practices in a field 

of medicine .



2. Melville v. Southward—the standard of care depends differs upon 


whether to what kind of doctor one goes to.



3. Why hold podiatrists to a lower standard than other doctors?




(a) contract scheme, you get what you pay for.




(b) alternative medicine tests this principle



4. Some states hold professionals to the standard of what a reasonably 


prudent person in that field would do.




(a) consequences—when there is a real split of authority in the 



field, the Texas standard allows the fact-finder to determine which 



is the more prudent practice.



5. Other states hold a professional to the standard of accepted or 



customary practice in the field.




(a) reasonable minority rule—non-compliance with a standard 



rejected by much of the profession is not malpractice as long as the 


D complied with a school of thought that is followed by a 




respectable minority of professionals.



6. Expert testimony




(a) reasons





(i) necessity-the jury is not as specialized.




(b) Two schools of thought:





(i) asks whether the expert witness is sufficiently 





knowledgeable of and familiar with the standard of care 




governing the D’s specialty to offer an informed opinion 




on that issue.





(ii) Is the standard of diagnosis or treatment applicable to 




the expert witness’ specialty identical to the standard for 




the D’s practice.



7. Demise of Strict Locality




(a) only a physician actually practicing in that very area could 



provide testimony.  This discouraged potential witnesses form 



testifying.




(b) why?





(i) uniformity of medical practices





(ii) willingness of courts to accept witnesses who were 




familiar with community medical practices even if they 




weren’t from the community.



8. Exception to Professional Custom---Some courts require the 



practitioner only to explain to the patient the limitation of the proposed 


treatment. 



Others states that practitioners other than medical doctors must refer 


the patient to a medical doctor when the practitioner realizes that the 


problem is not amenable to treatment by his or her methods.


J. The Reasonable Person



a) Is a person with abnormal qualities evaluated based upon his or her 


actual qualities or holding him to normal qualities?




1. A person with subnormal mental qualities is evaluated against 



the reasonable normal person (Vaughan v. Menlove)





a) why?






1. Administrative







a) infinitely variable







b) fraud







c) lack of knowledge of how good they can 






do







d) predictability/safety






2. reliance/expectation




2. Adult with supra-normal is judged by the reasonable supra 



normal person (PSC of NH v. Elliott)





a) proof problems can be evidence





b) reliance/expectation of people dealing with those with 




more knowledge.




3. The adult with subnormal physical activities held to the 




reasonable person with subnormal physical activities (Roberts v. 



State of LA)





a) proof—satisfied based on physical appearance





b) reliance/expectation




4. Child in childish activities Held to a children’s standard





a) utilitarian/liberal grounds of child development




5. child in adult situations/held to adult standard





a) could still justify based on child development because 




the adult activities are not instrumental to child 





development.




6. Contributory v. regular negligence—they are not required to act 



like a standard man, but only to use such judgment that they are 



capable of.




The argument is that if the case is between an ‘abnormal’ P and a 



normal D its is better that the loss is borne by the D.


K.  Negligence Per Se (Violation of a Statute)



1. Implications—




(a) Violation of a Statute means that the negligence issue does not 



go to the jury.




(b) Compliance with the law can be used as evidence of reasonable 


care, but is not conclusive on the evidence of reasonable care.



2. Excuses




a) incapacity





(i) example—Morby v. Rogers-- 13 year old is hit after 




turning his bike without signaling




b) excusable ignorance of a violation (neither knows nor should 



know of the occasion for compliance)





(i) example-Krebs v. Rubsam—D was unaware that the 




other person had extinguished light in hall immediately 




before the accident.




c) inability to comply using reasonable diligence





(i) example-Freund v. DuBuse- The D’s brakes failed 




suddenly and he struck the rear of the P’s car.  The d 




argued that he used reasonable care in maintaining his 




brakes.




d) emergency




e) compliance would involve a greater risk of harm to self and 



others





(i) example—Tedla v. Ellman—walking along wrong side 



of road when it had much lighter traffic



3. There is NO general excuse for reasonable noncompliance. (Martin 


v. Herzog)


4. The RISK RULE---you ask whether the risk that occurred was one of 


those that the statute (or the rule) was meant to guard against.




(a) lightning/speeding example




(b) Exception to the RISK RULE—the case of driver’s licenses.





(i) possible explanation—courts think that driving without 




a license establishes negligence if the driver otherwise 




acted prudently.  The fact that D was driving without a 




license may be put to a jury. Nevertheless, P’s have had to 




show evidence of substandard care, or driving in a 





substandard manner.



5. Defense of Limited Statutory Purpose



a) Permits the D to show that the P was not in the class of persons 



intended to be protected by the statute which the D violated.




b) Two ways of predicting how the courts will rule on the 



scope-of-statutory-purpose issue.




(i) to see whether there is legislative history or a preamble 




to the statute in question





(ii) If violation of the statute does not at all increase the risk 



of harm to those in the P’s situation, then the courts are 




very unlikely to hold that the P is an intended beneficiary.


L. Circumstantial Evidence of Negligent Conduct and Res Ipsa Loquitor



1.  When?




a) How strong must the connection be between established facts 



to allow a jury to decide whether a fact may be inferred?





(i)  if the facts proved establish the more reasonable 





probability that the D’s were guilty of actionable 





negligence.



2. Other Considerations




a) Circumstantial evidence may potentially outweigh direct 




evidence.




(b) example---banana peel—Suppose your walking in a grocery 



store and then suddenly slip and fall.  Immediately after the fall 



you see a fresh yellow banana peel stuck to your foot.  In your suit 



against the supermarket you prove only these facts, plus the scope 



of your injuries.




Based on these facts should a jury be permitted to find that the D 



had failed to exercise reasonable care.  NO.  The P needs to prove 



how long the banana peel had been on the floor, or who placed it 



there.  The D is not strictly liable for all injuries resulting from 



slips and falls.



3. Res Ipsa




a) P is not alleging a specific negligent act that he asks the jury to 



infer. Rather he is claiming that the accident probably occurred 



because of some negligent act.




b) Should a P be forced to choose between res ipsa and a specific 



negligent act?





(i) no—there is no logical inconsistency with alleging one 




act or in the alternative another unidentified act.




c) Sample Elements of a RIL claim





(i) the accident must be of a kind which ordinarily does not 




occur in the absence of someone’s negligence (used as the 




sole test in many states)





(ii) exclusive control






(a) is the duty non-delegable





(iii) accident must not be due to any voluntary act by the P






(a) unclear whether this means that P did nothing 





negligent or that P did nothing to increase the risk 





of the accident.




d) The Ybarra Problem





(i) somebody had done something negligent but we don’t 




know who.  All the D’s were held jointly liable.





(ii) absent an application of the RIL doctrine none of the 




D’s would have had an interest in telling what they knew.





(iii) Problems with the Smoke Out Theory-





(a) one or more of the D’s must actually have 





knowledge about the cause of the P’s injury that 





would be useful as evidence.






(b) Any D who does have evidence that would be 





useful to the P must be willing to lie under oath in a 





deposition but wiling to tell the truth under oath at 





trial.






(c) in light of the limited number of situations in 





which RIL is likely to be useful in smoking out 





evidence, then what is its function?



4. Standards of Care




a) Different rule systems impose different standards of care





(i) P must establish D had actual or constructive knowledge 



(meaning that substance was on the floor for sufficient 




period of time that it ought to have been cleaned up) 




(TEXAS rule).





(ii) P must establish that spills are commonplace.  Burden 




shifts to D to show that it had reasonable policies and 




practices regarding cleanup.





(iii) Rule (i) and (ii) impose a higher standard of care 




because they require a business to do more than clean up 




spills that are brought to its attention.  





(iv) Rules of inference:






(a) Rule (i) infers that the store did not do this if P 





can establish that a substance was on the floor for 





long enough that it probably would have been 





cleaned up had the store regularly checked and 





cleaned its floors.






(b) Rule (ii) infers that if P can establish that the 





store did not regularly check and clean its floor that 





the substance on which he slipped would have been 





cleaned up had the store done otherwise.  This holds 




the store liable for accidents that even regular 





inspection and cleaning would not have avoided.  





(v) WHY IS RULE (ii) BETTER?






(a) where the negligence of the D greatly multiplies 





the chances of the accident and is of a character 





naturally leading to its natural occurrence, the mere 




possibility that it might have happened 






without the negligence is not sufficient to break 





the chain of cause and effect.

IV. Cause in Fact


A.. The But For Test  




1. Elements




To be a negligent cause in fact is a necessary, but not a 




sufficient, condition of liability.



(a) To determine whether negligent act x caused injury y , you ask 



whether y (probably) would not have occurred but for x.




(b) Counterfactual Mental Exercise—similar to determining 



expectation damages.




(c) when we assign cause we are thinking in terms of bearing 



responsibility.




2.  The five steps to the But For Test.




 a) injury in suit—injuries for which redress is sought




(b) the D’s wrongful conduct




(c) imagining the counter-factual hypothesis




(d) would the injuries that P suffered would probably still have 



occurred had the D behaved correctly in the sense indicated.




(e) answer the question



3.  UNCERTAINTY-



(a) Uncertainty is where I couldn’t assign probability.




(b) Uncertain events==in that unspecified range is it better than 



50%




4. Examples of the But For Test in Action




(a) East Texas Theaters—General rowdy behavior.  P was hit by a 



bottle seen coming from the balcony after the show ended.   The 



alleged negligent act was failure to throw out the rowdy people.  



The but for test doesn’t hold because the person that threw the 



bottle might not have been one of the rowdies.




(b) Kernan v. American Dredging—How does the dissent think D 



could have complied with the regulation? By carrying a second 



light eight feet above the water.  The accident still would have 



occurred so its noncompliance.




(c) Normannia—P embarked in London on a steamer originating in 


Hamburg and going to New York.  He asked if there were steerage 



passengers and was told no by the agent who was wrong.  There 



was a cholera outbreak and he was detained 13 days.




He lost roughly another 2 of 3 weeks of work because of 




excitement and anxiety over exposure to cholera.





TWO ACTIONS





(i) breach of contract—as a result P lost 1 to 3 weeks of 




work not 4 because had the agent kept the promise P still 




would have lost one week. so if damages are $200 per week 



then P gets $200-$600 damages.





(ii) tort-misrepresentation---had he not misled P would 




have taken another vessel saving 4 weeks (no quarantine) 




but losing $100.  Thus, P gets $700.





(iii) the first is expectation and the second is reliance.



B. Substantial Factor and Alternative Liability




1. Alternative Liability—(Summers v. Tice)—D1 and D2 shoot 



simultaneously.  P is hit by one pellet in the eye.  Under the 



general rule—but for causation, more likely than not fails





(a) elements---both D’s must have committed some 





negligent act.





(b) liability---Joinder of all responsible parties.






(i) if joinder is impossible due to a immune, 






unknown or jurisdiction proof person then this 





precludes use of the doctrine.






(ii) why apply this risk to the P in alternative 





liability cases? Different degrees of culpability.  In 





multiple necessary cause cases, the P would not 





have been injured had any one of the D’s not been 





negligent.  In Summers, this might not be true.






(iii) BURDEN—burden of proof shifts to the D’s




2. Multiple Sufficient Cause---(two motorcycles passing a horse)





(a) element






(i) THIRD RESTATEMENT---the sets must be 





independent






, and (ii) one set cannot pre-empt the 







other (by being first in time)







(a) The second sufficient cause cannot be 






preempted, so the Restatement reverses the 






decision in Jobling—that a onset condition 






after the injury is disregarded.






(iii) CASELAW adds to this (each sufficient causal 





set must involve a wrong






(iv) the causes must be concurrent.





(b) Characteristics.






(i) usually both tortfeasors must have committed 





some independent negligent act which in in of 





itself would have been enough to produce the harm.






(ii) What if one of the multiple sufficient causes is 





non culpable?







(a) Split of authority








(1)Restatement, Third—MSCS 







applies whenever there are two or 







more competing causal sets, each of 







which is sufficient to cause the harm 







and each of which is in operation at 







the time the P’s harm occurs.







(b) reasons to impose liability








(1) deterrence, and compensation






(iii) what if P’s negligence is one of the factors?







(a) RUDECK—says no.




3. Multiple Necessary Cause—





(a) element






(i) Each cause must be cause in fact. The 






negligent act of multiple tortfeasors is not 






enough to produce the harm, but is necessary part 





when combined with another negligent act.






(ii) joint and several liabililty





(b) . How to determine the difference between Multiple 




Sufficient Causes and Multiple Necessary Causes?






(i) ask whether or not the negligent act is sufficient 





in itself to produce the harm. (A and B both pollute 





a lake. Fish are killed.  What do we need to know 





before we can classify this as independent necessary 




cause? the pollution levels.




4. Loss of Chance





(a) rationale---you are contracting for a greater probability 




(even though it might not save you more likely than not)





(b)  Scope---statistical probability would be difficult to 




prove/ courts are hesitant to extend the doctrine






1. medical malpractice claims—Michigan Supreme 





Court limits it to death cases.



C. Collective Liability




1. Commonalities to Collective Liability





(a) impracticable to prove which D caused the injury





(b) all D’s sought to be held collectively liable must have 




engaged in tortous activity that COULD have caused the 




injury.





(c) problems of proof must be related to the conduct itself.




2. Types.





(a) Alternative (see above)





(b) Enterprise—used to hold all manufacturers in a specific 




industry liable where the individual manufacturer whose 




product caused the harm cannot be identified and where the 



industry jointly controlled the risk.






(i) used if the industry sets a trade group to set 





industry standards then we can hold the enterprise 





liable.





(c) Concerted Action






(i) collective liability based upon collective decision 




to commit a hazardous action/wrong-doing.






(ii) Example—T runs into P while he is drag racing 





with D. Is D the cause in fact of P’s injury under the 




but for cause test? Yes.  Does making it a 3 car race 





change the result? No.  This looks like Northington 





(MSCS) even if we assume the race would still have 




occurred without any one 








of them






(iii) Joint and Severally Liability






????????? See Class 17 Notes.




.
(d) Market-share liability






(i) Elements







(a) multiple wrongdoers







(b) we don’t know which one caused the 






harm







(c) fungible product (signature disease?)—






the goods have to carry a similar risk of 






harm.






(ii) Liability







(a) P does NOT have to join all the 







manufacturers







(b) but each is liable only for the share of the 





loss based open its market share.




3. Joint and Several Liability in General





(a) Defined—when two or more defendants are liable to the 



P for the same harm





(b) When Applied






(i) Joint Tortfeasors—if you and I together engage 





in a joint enterprise and one of us is negligent, then 





we are jointly and severally liable for the harm that 





results.






(ii) Independent tortfeasors for a single, 






theoretically indivisible harm. Suppose that one D 





speeds through an intersection and another fails to 





stop at a red light.  The two vehicles collide and one 




runs onto the sidewalk, injuring a pedestrian.  





Because there is no way to pinpoint the extent of 





either D’s causal responsibility for the pedestrian’s 





harm, each is jointly and severally liable for that 





harm.






(iii) Independent tortfeasors are jointly and 






severally liable for a single, theoretically divisible 





but practically 
indivisible harm. 




4. Post-injury Injuries





(a) Example Wrongdoer 1 negligently injures P’s leg in a 





traffic accident.  Later wrongdoer 2 shoots P’s leg.  





Both are held jointly and severally liable.  Is this right, no 




substantial factor doctrine doesn’t work because the 




injuries aren’t concurrent and the cause was pre-empted.

V. Duty and Legal Cause


A. Duty (generally)



1. can be thought of in its most expansive form as a general duty to act 


reasonably to avoid harming of others when that harm is foreseeable.



2. ROLE---confines the scope of negligence.  The D’s may have 



committed a wrong, but it may not be a wrong that the law once to hold 


them responsible for.



3. Most law on duty takes the form of “no duty” rules”. It is difficult to 


find a general statement of the scope of a positive duty of care.



4. Liability limiting rules have given way in the last century




a. example—last wrongdoer was the sole proximate cause of an 



injury.



5. Role of judge and jury




a) not Robertson’s---it is for the jury to decide what the scope of 



obligation is for the acts of others in the space left by the demise of 


this principle.




b) Perhaps—Judge may dismiss a cliam only if he can state a rule 



or principle where no reasonable could disagree about its 




application because factual or evaluative element is in doubt.




Judges could establish new rules to delimit the scope of liability 


for the acts of others.



6. DUTY is sometimes misused.




(a) where there is no rule prohibiting recovery for x action




(b) duty in place of legal cause—relegates all unforeseeable P 



questions to judges whereas the reality is that such questions are 



often submitted to juries when the facts and equities are close




(c) duty is sometimes used to frame the breach issue




(d) EXAMPLE--The aluminum pole connecting with the un-insulated wire.  Not a problem with duty because everyone of ordinary sense who did think would at once recognize that he would cause danger of physical injury to the person , a duty arises to use ordinary care and skill to avoid such danger.

The question is over breach.  Absent a clear rule of law to the contrary, a duty of reasonable care is assumed.


B. Legal Cause



1. Not really an issue of cause at all.  The issue goes to whether a harm is 


within the scope of an actor’s liability.



2. When is a harm within the scope of an actor’s liability for negligence?




(a) it is among or associated with the array of foreseeable risks the 



existence of which called upon the defendant to alter his conduct.




(b) EXAMPLES





(1) P runs into D’s car when D’s car is negligently parked 




in front of a fire hydrant.  Not legal cause because this was 




not the risk that we had in mind in concluding that it was 




negligent in parking in front of  a hydrant.





(2) D hands a loaded gun to a 9 year old child.  The child 




drops the gun injuring his foot.  No liability because this 




was not the risk that we had in mind in concluding that it 




was negligent to give a child a loaded gun.





(3) Same facts except as it is falling it discharges.  YES, 




there is legal cause.  It makes no difference if the 





mechanism is different.





(4) D negligently takes flight in a hot air balloon on a 




windy day.  It is negligent because high winds make it 




difficult to control the balloon.  consider the following 




harms Which are within the risk?  A passenger is injured 




when the balloon runs into a power line (YES, A field is 




damaged when the balloon is dragged across it while 




landing (YES), a field is damaged when a crowd runs onto 




the field to watch the balloon landing—(MAYBE---





depends on whether it was known within the balloon 




community that this would attract people).

	Harm within the Risk—asks if this is one of the risks for why we deem the conduct negligent
	P’s interest within the risk--- direct consequences only if they invade a foreseeable P’s interest
	D is liable for any consequences of a negligent or wrongful act unless it would be unfair/impolitc----

direct consequences if they invade even a unforeseeable P’s interest.  

	
	
	

	Glendola
	Palsgraf—D is liable for unforeseeable harms which result form a foreseeable P.  If the P is unforeseeable, then there is no liability.
	All involve intentional torts—all the harm that follows that person perhaps to others.

	Wagon Mound----the risk for why we deem the conduct negligent is the environmental problems to the slip with the furnace oil, not that it will catch fire.
	Thin Skull Rule (EXTENT)—interest within the risk, rule only applies when there is negligence/extent of the harm.  DIFFICULT TO APPLY TO HARM WITHIN THE RISK-see below
	Rescuer---because your not protecting the person originally harmed  interest here it’s someone helping someone else hurt by the accident you caused.

	Suicide—harm within the risk, general rule, only if you know that the person is prone to being on the edge, insanity, unconsciousness.
	
	

	Mechanics—general foreseeable principle

PROBLEMS---depends on how you frame the harm within the risk.  HINES case—If you frame the harm to be avoided is a person getting stuck in the hole, then it’s foreseeable.  If you frame the harm as someone to loose their last leg, then it’s not.
	Mechanism Rule—ex. lightning striking negligently stored gas. Your act was negligent in respect to some interest of P.

DIFFICULT TO INCORPORATE INTO HARM WITHIN THE RISK BECAUSE THEY PRESUPPOSE A BASIS for distinguishing between types of harm
	







5. Framing the Injury—the mechanism and extent 





rule have problems with this because they 






presuppose a basis for distinguishing between types 





of harm.







a. Examples---Pahn Son Van v. Pena—Store 





negligently sold alcohol to youths.  They 






gang raped P.  How do you frame the injury 






if you want this case to go to the jury?  Risk 






of injury at the hands of intoxicated youths.  






How do you frame the injury in you want to 






be able to argue it was not foreseeable?  






Risk of rape.  







b. Edwards v. Honeywell—Could you have 






written an opinion coming out the other way 





using working concepts of legal cause?  Yes. 





Delay poses a foreseeable risk to 







inhabitants.  Fireman is a rescuer.  




C. The Demise of the Privity Requirement





1.  MacPherson v. Buick (1916) is the signal point for the 




abolition of a privity requirement in the sale of goods.





2. Why is privity an issue in 1997 Bush v. Seco Electric?






a. Antiquated view in IN of the accepted work 





doctrine.





3. Blake v. Calumet Constr Co. weakens/eliminates the 




requirement that the danger be imminent.






a. Contractor is liable if the work is turned over in a 





condition that has a propensity for causing physical 





harm to foreseeable third parties using it in 






reasonably expectable ways.





4. Concept of privity remains in tact in:






a. cases involving negligent conduct causing 





physical injury.






b. where harm to the P is economic






c. or when 3rd parties tries to enforce a contractual 





obligation.







1. TX Supreme Court held that intended 






beneficiaries of a will do not have a claim 






against an attorney whose negligence in 






drafting the will denied them their bequests 






because the beneficiaries are not in privity 






with the attorney. (Texas is in the minority)




D. The Duty to Act





1. No liability general for nonfeasance. 






a. Three Exceptions to this issue







1.The Volunteer Exception







 D undertook to assist the P (and 







aggravated the situation.)







2. D is in a special relation with P








a. Examples









(i) common 










carrier/passenger, innkeeper-








guest, occupier of land-public 







invitee, custodian-ward or 








parent/teacher, and employer-








employee.








b. Difference between P asserting a 







claim that D had a duty to act to 







protect him from a risk or harm 







because of a special relationship 







between them, and (ii) P asserts that 







D had a duty to act to protect him 







from T because of D’s special 







relationship with T.









(i) example---D was treating 








an injured child.  Under MI 








law they were under a duty to 







intervene when they saw 








child abuse.  D saw this and 








did nothing.  Claim was 








brought by another injured 








child.  The doctor doesn’t 








have a duty to other children 








that are not within his care.








c. Courts routinely deny b(ii) though 







there are some exceptions 








(Tarasoft—successful suit by a 







family against a doctor who failed to 







warn of a mental patient who 








threatened an individual person)







3. D (non-negligently)created  a foreseeable 






risk of 
danger.








a. Usually the D will have had to 







have committed an overt act, 








otherwise the nonfeasance general 







rule would be swallowed.








b. Example---Group of students 







caravanning down a dark road.  The 







lead car, through no negligence of 







his own runs off the road and the 







others follow.  









c. Driver hits a cow and fails to warn 






other drivers.










4. Good Samaritan statutes---limits the level 






of culpability for the altruist only if the 






altruist is grossly negligent.








5. There is also sometimes the possibility of 






characterizing what may appear to be an act 






of nonfeasance as an act of misfeasance 






(Passenger drowns in a boat when it 







overturns.  She doesn’t have a life jacket on 






because there are no life jackets in the boat.  






The owner of the boat may well be liable for 





the act of using the boat without life jackets.

VI. Emotional Harm


1. General Rule



a. There is liability for negligently causing another to suffer pain or 


distress only if the distress is associated with a physical impact that caused 

a physical injury


2. Physical injury OR physical impact



a. P miscarried watching the D’s badly beat a man in front of her house



b. There has to be a severe biological injury.


3. Liability is Pushed Out by Three Rules



a. Zone of danger—P is in personal danger of physical impact because of 


the direction of a negligent force against him and P actually has to FEAR 


the impact.



b. Bystander—




(i) someone who is near the accident




(ii) who observed the accident as it occurred, and




(iii) who was closely related to the victim




(iv) borderline cases are done by the judge



c. Pre-existing relationship/duty---St. Elizabeth’s Hospital v. Garrard-



Hospital had stillborn daughter buried in unmarked common grave.  




(i) with a contractual relationship that gives rise to a duty of care to 


protect another from an emotional loss (mistaken diagnosis case).

VII. Economic Loss


A. General Rule



1. Generally there is no liability under the general negligence tort for 


economic loss that is not caused by physical injury to the P’s  person or 


to the P’s property (has to be damage, not mere interference)




a. There is a tort claim for a defective product only if the defect 



caused personal injury or injury to property other than the product.





(i) rationale—would expect contract law to govern 





something in contract---weak argument because we would 




also expect liability for consequential damages in contract 




law as well.


B. Why might one want to sue in tort rather than in contract law?



1. Avoids Hadley doctrine



2. contract law requires lost profits to be proved with more certainty.



3. Also there is more likely to be liability insurance to cover a negligence 


claim.



4.  there may be special rules policing exculpatory rules in negligence in 


contract laws.


C. The economic loss doctrine prevents the law of negligence from overwhelming 
greats swaths of the law that define responsibility for inadvertent economic injury.



1. negligent misrepresentation-protects against economic loss



2. Malpractice claims



3. nuisance law- protects against the unreasonable impairment in the use 


of property.

Joint Wrongdoers


Divisible Injuries


(with reasonable certainty)


liable under the but for test for the proportion of harm caused





Indivisible Injuries


Single Event


D must prove there part in the accident otherwise joint and severally liable.





Exception:


 Multiple Events


Why? It would be difficult for D’s to prove if the accident didn’t occur because of one event. 





If the wrongs are remote in time, then the jury should make its best guess if there is no reasonably certain basis for dividing.  If no basis for guessing, then divide the loss evenly.








Preexisting Condition


Burden is on the D if there is no reasonable certainty.  Send to the jury to make the best guess. LaMoureaux—so long as there is some basis of apportionment tell the jury to make its best guess.





Burden---ask who has the incentive/access to the info











